i?/vw"fwe A.1 . WH&M“’ Cc-‘t,f(r-}- Fol— -

=

(’lﬁ) DCB = DCng-)f/J(BVgB
S(D.4)2S(D.4)

(D) o (H-a) £ - (D, 4 )¢ Q[‘DZ{@_A_ 7 (4—a)
% o = A g([a,/(y_D, (=rvg é’,(fd(/(,-]).

(2.) Eor Io=a<r=x, (MM%W&QZ@W()
- PEDob (o3attTrg P i)
Gt e SR PRE P chﬁ
A2 (1] = M(’(r“%\:‘-o(Dorg)
< 5 (D,.u&,\ < (D, %} 2 S(’j‘;’ 2?
< SCDGI 5’“)



— e e aamm W

@% C Z pae ”"'j g/(fdf/ﬁ".)) D"\ | D
Lz = e £(Ca D) AR

= C, U—a) < OC'D,,/g,).": g[pg_(/f < G (/(5’—%)

Il ol g - g@c\ =C e € Cﬂ(/ﬁ‘j-
= 5 (D, !}\: S(PE)=clUw) ¥P

o A2ty ! L@ :Eﬁﬁﬂ C (’G——Qj .



Trore A2 e R(a0) el B
Fyo0 J witelD = S(P4l-»(Pd)< 7.
Do ad &' e (e VD)
- (D) e L <[4 2 S(DE)
e [ [F=S04)- -(04)
tetr Me/
E{ __chf a9y (RR)




‘S(’D e S
adelny dho g b Ao ﬂ [DWW

f’%-—-?/l <o (D)= SDA) <F *7@
SO (04) < (Tgein)-( L0-70

--m-gw
O rme X" :
&6 @("‘V(ﬁ’)







‘@%:\E dew>0 4.0
¥sso Sxgelat) - <l
0o YT lg(z)—gfg)/zg.
taiy e §= DA =z,
= T X € Canr) 42 g’
Krgml 2 % et f b ) gDl =z €
P e NS



—

(U;’Z@ T 2— [QéC(@tuﬁrﬂ :>Qeﬂz/4/¢)-

1. 0‘4(% L AL e m,-ZL"/L,(PR)
170 Aene . Ay £A% D 7O AR
{I/J(/?(:Eﬂ(/(r—} AR =g < 5

C







